2007 Block and Bridle Stockmens Contest

Answer Key for Team Problem
1. 
800 / 1291 = 61.967 which rounds to 62.0
2.
(1311 - 840) / 138 = 3.41
3.
17,264 / ( 6696 - 3994) = 6.3893 which rounds to 6.39
4.
Carcass price / cwt of number 1 is $156.00 for high choice, YG 4 minus $10.00 for the heavy carcass discount, so the final answer is $146.00
5.
Carcass price / cwt of number 3 is $170.00 for low Prime, YG 3

6.
Price per head for number 4 is 775 pound carcass X $156.00 / cwt = $1209.00
7.
Carcass Quality grade for number 5 is low Choice ($154 and YG of 2)

8.
Steer 2 was a Select and was worth $1152  ($144/ cwt and 800 pounds)  If graded low Choice, price would have been $154, which is $10 / cwt higher.  

$10/cwt on 800 pounds = $80 more
9.
Total feed cost for the 5 steers is 


$150/ton of DM X (17,264 pounds / 2000 pounds in a ton)  =
 $1294.80

Yardage is 30 cents per head per day , which is 



$0.30 X (138 days per steer X 5 steers) = 


$   207.00

Total of feed plus yardage is the sum of these 2


$1501.80
10.
Question calls for the total feed + nonfeed cost for the average steer.  Can be calculated in 2 ways.  


One way is to take answer for 9, which is total feed + yardage and divide by number of steers to get average amount per head, then add trucking and health:


($1501.80 / 5) + 45 + 20 = $365.36
OR to figure total spent for the group of steers, then divide by number of steers as the last step, as follows:


<$1501.80 + 5 X (45 + 20)> / 5 = $365.36
